
 Noreen 3e Practice Exam – Chapter 11  
Print these pages. Answer each of the following questions, explaining your answers or showing your work, and then compare your solutions to those provided at the end of the practice exam.

1.

McCort Company employs a standard cost system in which direct materials inventory is carried at standard cost. The company has established the following standards for the prime costs of one unit of product:

	
	Standard Quantity
	Standard
Price
	Standard 

Cost

	Direct materials 
	12.0 pounds
	$14.00/pound
	   168.00

	Direct labor
	2.6 hours
	$44.00/hour
	 $114.40


During April, the company purchased 330,000 pounds of direct material at a total cost of $4,686,000. The total factory wages for June were $3,200,000, of which 90% was for direct labor. The company manufactured 25,000 units of product during April using 302,000 pounds of direct material and 64,000 direct labor hours. 

Part (a)

What is the direct material quantity variance for April?
Part (b)
What is the price variance for the direct material acquired by the company during April?

Part (c)
What is the direct labor efficiency variance for April? 

Part (d)
What is the direct labor rate variance for April?

2.
Expedient Company maintains warehouses that stock items carried by its e-retailer clients. When one of Expedient’s clients receives an order from an online customer, the order is forwarded to Expedient. The item is then pulled from the warehouse, packed, and shipped to the customer. Expedient uses a predetermined variable overhead rate based on direct labor-hours. According to the company’s records, 0.04 direct labor-hours are required to fulfill an order for one item and the variable overhead rate is $3.25 per direct-labor hour. During December, Expedient shipped 120,000 orders using 4,600 direct labor-hours. The company incurred a total of $14,720 in variable overhead costs.
Part (a)
What is the variable overhead rate variance during December?

Part (b)
What is the variable overhead efficiency variance during December?

3.
Jacobs Company applies manufacturing overhead costs to products on the basis of direct labor-hours. The standard cost card shows that 6 direct labor-hours are required per unit of product. The company estimated that it would work 180,000 direct labor-hours and incur the following manufacturing overhead costs for the month of March:
	Total fixed overhead costs 
	$237,600

	Total variable overhead costs 
	$198,000


During March, the company completed 28,000 units of product, worked 172,000 direct labor-hours, and incurred the following total manufacturing overhead costs:

	Total fixed overhead costs 
	$230,600

	Total variable overhead costs 
	$197,800


The predetermined overhead rate was based on 180,000 direct labor-hours. 
Part (a)
What is the variable overhead (VOH) spending variance for March?

Part (b)
What is the variable overhead (VOH) efficiency variance for March?

Note: Complete parts (c) and (d) only if you are responsible for Appendix 11A.

Part (c) 
What is the fixed overhead budget variance for March?

Part (d) 
What is the fixed overhead volume variance for March? 

Noreen 3e Practice Exam Solutions – Chapter 11
1.
Part (a) Solution (Learning Objective 1):

First, calculate the standard quantity as follows.

25,000 units x 12.0 pounds per unit = 300,000 pounds

Then calculate the material quantity variance as follows.

Materials quantity variance = SP x (AQ – SQ) = $14.00 x (302,000 – 300,000) = $28,000 (U)

Part (b) Solution (Learning Objective 1):
First, calculate the actual price per unit of materials as follows. 

Total cost of $4,686,000 ÷ 330,000 lbs. = $14.20 per pound

Then calculate the materials price variance as follows.

Materials price variance = AQ x (AP – SP) = 330,000 x ($14.20 – $14.00) = $66,000 (U)

Part (c) Solution (Learning Objective 2):

First, calculate the standard hours as follows.
25,000 units x 2.6 hours per unit = 65,000 hours
Then calculate the direct labor efficiency variance as follows.
Direct labor efficiency variance = SR x (AH – SH) = $44.00 x (64,000 – 65,000) = $44,000 (F)

Part (d) Solution (Learning Objective 2):

First, calculate the actual rate per hour of direct labor as follows.
($3,200,000 x .90) ÷ 64,000 hours = $45.00 per hour

Then calculate the labor rate price variance as follows.
Labor rate variance = AH x (AR – SR)

Labor rate variance = 64,000 x ($45.00 – $44.00) = $64,000 (U)

2.
Part (a) Solution (Learning Objective 3):

The variable overhead rate variance during December is determined as follows.
	Actual Hours of Input, at the Standard Rate
	
	Actual Hours of Input, at the Actual Rate

	(AH × SR)
	
	(AH × AR)

	4,600 hours (given) ×

 $3.25 per hour 
(given)
	
	4,600 hours (given) ×

 $3.20 per hour 
(or $14,720 ÷ 4,600 hours)

	= $14,950
	
	= $14,720 (given)

	Variable overhead rate variance, $230 F


Alternatively, the variable overhead rate variance is determined as follows. 

AH x (AR – SR) = 4,600 hours ($3.20 per hour – $3.25 per hour) = $230 F
2.
Part (b) Solution (Learning Objective 3):
The variable overhead rate variance during December is determined as follows. 

	Standard Hours Allowed for Output, at the Standard Rate
	
	Actual Hours of Input, at the Standard Rate

	(SH × SR)
	
	(AH × SR)

	4,800 hours 
(or 120,000 x 0.04 DLH) ×

 $3.25 per hour (given)
	
	4,600 hours (given) ×

 $3.25 per hour 
(given)

	= $15,600
	
	= $14,950

	Variable overhead efficiency variance, $650 F


Alternatively, the variable overhead efficiency variance is determined as follows.
SR x (AH – SH)
= $3.25 per hour (4,600 hours – 4,800 hours) = $650 F

3.
Part (a) Solution (Learning Objective 3):

First, compute the variable overhead (VOH) rate as follows.
VOH rate = Budgeted variable overhead costs ÷ budgeted direct labor hours

VOH rate = $198,000 ÷ 180,000 direct labor hours = $1.10 per direct labor hour

Then, compute the variable overhead (VOH) spending variance as follows.
VOH spending variance = Actual VOH incurred – (Actual direct labor hours x VOH rate per direct labor hour) = $197,800 – (172,000 hours x $1.10 per hour) = $8,600 U 

The variance is unfavorable because the actual overhead costs were more than the benchmark (that is, how much should have been spent in total on variable overhead items during the period).

Part (b) Solution (Learning Objective 3):

First, compute the variable overhead (VOH) rate as follows.
VOH rate = Budgeted variable overhead costs ÷ budgeted direct labor hours

VOH rate = $198,000 ÷ 180,000 direct labor hours = $1.10 per direct labor hour

Then, compute the efficiency variance as follows.
VOH efficiency variance = (AH hours x VOH rate) - (SH hours x VOH rate) = (172,000 hours x $1.10/DL hour) – ((28,000 units x 6 DL hours/unit) x $1.10/hour) = $4,400 U 

More direct labor hours (172,000) were worked than were allowed at standard (168,000); as such, the overhead efficiency variance is unfavorable. 

Part (c) Solution (Learning Objective 4):

The fixed overhead (FOH) budget variance is determined as follows.
FOH budget variance = Actual fixed overhead – Budgeted fixed overhead = $230,600 – $237,600 = $7,000 F 

Since actual fixed overhead was less than the amount budgeted for the period, the budget variance is favorable.

3.
Part (d) Solution (Learning Objective 4):

First, compute the fixed overhead (FOH) rate as follows.
FOH rate = Budgeted fixed overhead costs ÷ budgeted direct labor hours (denominator activity) = $237,600 ÷ 180,000 direct labor hours = $1.32 per direct labor hour

Then, the FOH volume variance is determined as follows.
FOH Volume variance = Budgeted fixed overhead – (Standard hours allowed x FOH rate) = $237,600 – [(28,000 units x 6 DL hrs./unit) x $1.32 per DL hour] = $15,840 U 

Since budgeted fixed overhead was more than the amount applied to work in process during the period, the volume variance is unfavorable.

